1. Numerical integration

Numerical integration proceeds along the same lines as numerical differentiation
Bf = Bp,

with a different operator

b
Bf= f w(1) f(1)dt,

with #: C([a,b]\Z) - R with Z a set of measure zero, e.g., Z =@ for a function continuous at all points in [a,b]. It
is often useful to explicitly identify a weight function w(¢) that can attribute higher significance to subsets of [a,b].
In the integration case, the approximation basis choice can be combined with decomposition of the domain into m
subintervals [ay, bi) such that U,Z"Zl lak, by) =[a,b) through
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a=a1<bi=ar<bry=az<---<b,=b.

Monomial basis. As for numerical differentiation, an integration operator 7 can be obtained from the polynomial
interpolant of f based upon data & ={(x;,y;=f(x;)),i=0,...,n},

p=[1¢t¢ ... "]e,e=My,

M=[1xx* ... x"],x=[x ... xX10y=[y0 ... yn

Integration of f for w(t) =1 is approximated as
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As for numerical differentation, the computational effort in the above formulation can be reduced through alternative

basis choices.

Lagrange basis. Assume n=dm in the data set 2 ={(x;,y;=f(x;)),i=0,...,n}, and construct an interpolant of degree
d in each subinterval [a, by) = [xa4-1).Xak). As highlighted by the approximation of the Runge function, the degree
d should be small, typically d €{1,2,3}.

Trapezoid formula. For d=1, a linear approximant is defined over each subinterval [xj_j,x;], stated in Lagrange

form as
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The resulting integral approximation
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The approximation error results from the known polynomial interpolation error formula
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that gives
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en(t) = Uk [f (1) —p(t)]dt| < ||f”||oo%-

Using an equidistant partition x; =a + kh, h= (b—a) /n, over the entire [a, b] interval gives the composite

trapezoid formula
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The overall approximation error is bounded by the error over each subinterval
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and the trapezoid formula exhibits quadratic convergence, e = © (h?).

Simpson formula. A more accurate, quadratic approximant is obtained for d =2 using sample points xx_a, X¢—1, Xk
Pi(1) = o (1) Y2+ b1 (1) -1 + G (1) i,
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Assuming n=2m, xy =a+kh, h=(b-a) /n, over a subinterval the Simpson approximation is
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Integration of the interpolation error
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leads to calculation of
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This null result is a feature of even-degree interpolants d =2r. Note that the interpolation error formula con-
tains an evaluation of f®)(&,) at some point &, € [x_»,x;] that depends on ¢, so the integral
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is not necessarily equal to zero. To obtain an error estimate, rewrite the interpolating polynomial in Newton
form
Pi(t) = Y1+ [Y-15 V=21 (1 =X=2) + [Vies V=15 V2] (1 = Xpe—2) (1 = Xk-1),
The next higher degree interpolant would be
qic(t) = pi(1) + cx (1 =xp—2) (1 = Xg-1) (£ = Xk),

and (1) implies that the integral of g is equal to that of p;
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hence the Simpson formula based on a quadratic interpolation is as accurate as that based on a cubic interpo-
lation. The error can now be estimated using
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where z; is some additional interpolation point within [x;_,x;]. It is convenient to choose z; = x4—;, which
corresponds to a Hermite interpolation condition at the midpoint. This is simply for the purpose of obtaining
an error estimate, and does not affect the Simpson estimate of the integral. Carrying out the calculations gives

“4)
<oy

When applied to the overall interval [a, b], the Simpson formula is stated as
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with error
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The composite Simpson formula is

m—1
f £ dt—Zf ft)dt~2f W) di=7 (y0+42y2k 12 Vot
k

k=1

with an overall error bound
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that shows fourth-order convergence e = O (h*Y.

Moment method. As in numerical differentiation, an alternative derivation is available. Numerical integration is

stated as a quadrature formula
b n
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using data = {(x;,y;=f(x;)),i=0,...,n}. Once the sampling points are chosen, there remain n + 1 weights w; to be
determined. One approach is to enforce exact quadrature for the first » + 1 monomials

h n
- Q) :I w)fdi=Y wixbk=0,1,....n.
¢ i=0

A Vandermonde system results whose solution furnishes the appropriate weights. Since the Vandermonde matrix is
ill-conditioned, a solution is sought in exact arithmetic, using rational numbers as opposed to floating point approxi-
mations.

The principal utility of the moment method is construction of quadrature formulas for singular integrands. For example,
in the integral

1
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the In? is an integrable singularity, and accurate quadrature rules can be constructed by the method of moments for

=Ih w () f(t)dt

with w(t) =-Int.
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